SAZ : CLASS-VI 2/2014
SUBJECT : ENGLISH

_imwe : 3 Hrs, M.M.: 80
General Instructions :

1.

2.
3.
4.

Ql.

Read the questions carefully.
Number the answers as given in the question paper. 5

Write in a neat and clear handwriting.

Write the answers in complete sentences.

SECTION-A (READING)

Read the passage given below and answer the questions that follow : (M
Once upon a time, two brothers who lived on adjoining farms fall into confliet. If was
the first serious fight in forty years. It began with a small misunderstanding and it
grew into a major difference and finally, it exploded into an exchange of bitter words,
followed by weeks of silence. i

One morning, there was a knock at the elder brother’s door. He opened it to find a
man with a carpenter's toolbox. “I'm looking for a few days work,” he said. “Perhaps
you would have a few small jobs here and there. Could I help you?”

“Yes," said the elder brother. “I do have a job for you. Look across the stream at that
farm. That's my nelghbour’s farm, in fact, it's my younger brother’s. Now listen carefully
to what [ instruct you. Sce that pile of wood by the barn. I want you to build me an
eight-feet fence around my farm - so that I wouldn't have to see my younger brother's
place anymore.”

The carpenter said, “I think | understand the situation. Show me the nails and the
digger and I'll be able to do a job that pleases you.”

The elder brother had to go to town for supplies, so he helped the carpenter get the
materials ready and then he was off for the day. The carpenter worked hard the whaole
day measuring, sawing and nailing,

At sunset, when the farmer returned. the carpenter had just finished his job. The
farmer's eyes opened wide in surprise.

There was no fence there at all. [t was a bridge ... a bridge stretching from one side of
the stream to the other! A fine picce of work, handrails and all. Then he saw his
younger brother coming towards him with his hands oufstretched, and saying, "Dear
brother, you are really a great man.”

The twa brothers stood at each end of the bridge. Then they met in the middle, taking
each other’s hand and then hugging each other.

They turned to see the carpenter hoist his toolbox on his shoulder. “No, waitl Stay a
few days. I've a lot of other projects for you,” said the elder brother. *I'd love to stay
on,” the carpenter said, “hut, T have many more bridges (o build.”
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Q2.

(a)  What job was assigned (o the vurpenter by the elder brother? (1)

(b)  Name the two things thal the carpenter asked for before starting his worl__ ("
() Why was the elder brother surprised when he returned from the town? m‘_
(d)  How did the younger brother react when he saw the bridge? (1)

(e} What did the two brothers request the carpenter at the end of the stery? What
was the carpenter's reply? (2

() Find words from the story that mean the same as the given words/ phrases:

(i)  disagreement (ii)  be next to something (2x¥a=1)

Read the poem given below and answer the questions that follow : (6)

I'lock back on these years

To see how far I've come and grown,
| take a trip down memory lane,
And what | see has shown ...

£

That every step I've taken, Mom,
You have been there by my side ...
From infaney to adulthood.

We've stood the test of time.

You cradled me and nurtured me.
Threngh all these many years;
You held me and did comfort me,
Through happiness m:a./EE.m.

You'd pick me up when | would fall,
You'd dust me off and then,

Encourage me to get back on
That horse and ride again.

Your constant care and loving,
And your warm inviting heart,
Has always heen a treasure that
I knew would never depart.

A woman whose most gentle soul,
Embraces me each day ...

A woman whom I dearly love,
Much more than words can say,

[a)  What is the poet thinking about while walking down the memory lane? (1)

(b)  How has the poet's mother nurtured her? )

(A-2)




(©)  What did the poet's mother do when she fell from the horse? (1)

yiwd)  The poem is dedicated to the selfless love of the poet's mother and the poet
wants to make her mother happy. What can you do to make your mother and

loved ones happy? (1)
(e)  Find words from the poem that mean the same as given below : {2x4e=2)
(i)  saveone from trouble (i) valuable objects
SECTION-B (WRITING)

5. You are Amit, a resident of 21-C Ambika Vihar, New Delhi. Two cases of dengue and
malaria have been reported owing to the heaps of garbage lying outside the locality
gate and poor drainage system. The drains are not covered and dirty, stagnant water
lies here and there which has become a breeding ground for mosquitoes. Write a
letter to the Editor of The Times of India drawing attention towards the issue and
suggesting measures to control it. i (6)

Q4. Look at the picture given below and write a paragraph in 100-125w ‘ds on the topic
‘Helping Others.' : (4)

@5. Read the following conversation between Gunjan and Renu. As Bheti is not home
and Renu has to leave for a trip to Jaipur, she writes a message [or F aarti, Write her

message in not more than 50 words. (4)
Gunjan :  Hello! Is it 93400101167
Renu  : Yes. May | know who is calling?

(A-3)

Gunjan : lam Gunjan, a junior colleague of Bharti.

Renu . Iam Renu, Bharti's younger sister. I am afrald she is not at hotie. e
has gone to Jaipur and may return in the evening.

Gunjan  : Would you mind giving her a message? Actually, she has to go to

Hyderabad immediately after she returns. It is officially very urgent
and also ask her to contact at the office as soon as she returns.

Renu : Ok. I'll convey your message to her.
Gunjan  : Thanks and bye.
Renu : Ok, bye!
SECTION-C (GRAMMAR)
6. Fillin the blanks with suitable adjectives : (4xYe=2) ,_

(a)  The old man moves slowly only with the help of a stick. _

(b) A wealthy man donated bells to the temple,

{c) Ournew dm_m:g:—.m are really very

(d) The most expensive painting in the exhibition has a frame.
Q7. Complete the given sentence with suitable prepositions : (4x14=2)
Ajay Is arriving February 11 5 O'clock
theevening Shatabdi Express. |
Q8. Join each pair of sentences by using appropriate conjunctions ; (2x1=2) |

(a)  Youmust buy a new dress for the party. You must buy new shoes for the party.
(b)  Vidur didn't see any boat. He swam across the river.

Q9. Fill in the blanks with suitable adverbs. Also write whether the adverb in each sentence

describes how, when or where. (4x!4=2) |
(a) I am going ; could you please send my dinner to my room’
R o T )

(b)  The traffic policeman spoke
: thefine(a-oos 1 g )
Q10. Change the given sentences as directed in the brackets : (2x

and asked the bus driver to |

(a)  Galileo invented the telescope. (Change into passive voice)
(b)  Thehouse is decorated by my mother during festivals. (Change into active
Q11. Fill in the blanks with the appropriate tense of the given verbs. ¢

This is the story of a brave girl who always (help) othe
(start) a school to teach martial arts to the girls of her ,

(A-4)
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(discuss) the plan with her parents. The girls in the neighbourhood
(respond) well to her idea.

: m 12. Rearrange the following words to make correct sentences : (2x1=2)
(a) nm_mcnmﬁm\mmu:c:o\sn\mﬂmﬁ\u@\s:Ewo:ﬁ\mﬂos\m:a\:.E.
(b) new /hoy/friends/already/the/has/made/many/in/the/class.

Q13. Fill in the blanks with suitable collective nouns : (2x1=2)

Ql4. Complete the given sentence with appropriate articles ;

(a) Wherever Danish went a of chickens followed him.

(b)  Every night, a of musicians plays at the restaurant.

2)

pink umbrella lying on
nearby park.

hour ago [ saw
wooden bench in

Q15. Complete these sentences with the verb form of the nouns glven in brackets : (2x1=2)

(@) The teacher asked the students to properly in front of the

chicf guest. (behaviour)
[ R

we will enjoy going (o Pratapgarh for a picnic. (thought)
SECTION-D (LITERATURE)

Q16. Read the extract given below and answer the questions that follow:

(A} As he entered the school gate an idea occurred to him, a sort of solution. He
wouldn't deliver the letter io the headmaster immediately, but at the end of
the day, (3x1=3)

(a)  Who Is referred to as *he' in the ahove lines?
(b)  What idea occurred to him when he entered the school gate?
() Why did he decide to Beliver the letter at the end of the day?

(B)  Children of spirit, children of will,
Children of muscle, brain and power,
Fit to cope with anything,
_ These are wanted every hour, (8x1=3)

(@) Why does the poet emphasize the need to have a strong will power?
(b)  Explain the phrase "Children of muscle, brain and power”.

(¢)  What type of children are wanted by everyone?

Q17. Answer the following questions in 30-40 words : (2x2=4)

(a)  Why was the young writer in the story “The Happy Prince’ unable to complete
the play? Who helped him and how?

(A-5)

(b) - Phillip rushed out of the Idichen to save the old lady from Georgina's attack huf
couldn’t do so? What mistake did he make?

Q18. Answer the following questions in 30-40 words : .mﬁn.&

(a)  In the story ‘Father's Help', Swami made a false excuse for not going to school
and his parents reacted in an entirely different manner, How did the reaction of
his mother and father differ?

veery

() The poem ‘Children Who are Wanted Every Hour' talks aboui the children who
are appreciated by everyvone, What fqualities should one imbibe to he a source of
pride for one’s family as well as nation?

Q19. Answer the given question in 80- 100 words ; (1x5=5)

Georgina proved to be an expensive pet for Gerald Durrell. Justify your answer with
suitable reasons,

OR

“The Happy Prince and the Swallow were truly rewarded for their gdoodness," Jusi v
the statement,

Q20. Answer the [ollowing guestion in 30.40 words : (2)

The poem ‘The Man of Life Upright’ stresses the need to lead an upright life. Why?

Q21. Answer the given question in 70-80 words : (4)

On what condition did the First Chinese Brother allow the liiile boy to accompany
him to the sea? Did the boy fulfil his promise? What happened to the boy at the sea?

OR

In the story ‘Who Caught the Trout’ the narrator and his friend met a number of
people who boasted about themselves, [s it appropriate to indulge in self-praise, Explain
with reference to the story.

Q22. Answer the following question in 30-40 words : (3)

Fagin met an end that he actually deserved, What did he tell Oliver when he came
to meet him in the prison?

Q23. Answer the given question in 80- 100 words - (5)

Alfter hearing about Fagin's arrest, Sikes tried to escape and save himself, How did
he try to do s0? Was he successful in the end?

OR

Oliver went back to the town where he was born and discovered the truth about
his parentage through his father's letter’ and ‘will'. What was mentioned in the
letter and the will?

(A-8)
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SUBJECT : SOCIAL SCIENCE

Time : 3 hrs. MM. : BO

General Instructions :

0

(ii)

(iii)

(iv)
()

(vi)

{vil

o

(viig

gL

Read all the questions carefully and number the
answers according to the questions.

Multiple choice question is to be answered in the
answer sheet.

Write all the answers in a neat and legible
handwriting.

Attempt all the questions.

Write complete sentences for question numbers 2
and 3.

Attach the maps properly to the main sheet.
Questions carrying 3 marks should be answered
within 60-80 words.

Questions carrying 3 marks should be answerad
within 80-100 words.

Fach question has four options out of which only one is
correct. Choose the correct option and write it in the answer
sheet. (1x6=6)

(i)  The grammarian who prepared grammar for Sanskrit

was
(a) Shaunaka (L) SatyakamaJabala
{¢) Abhipratarin (d) © Panini

(i)~ ==l VS = was the pott 1n the court of
Chandragupta Ii.
(a) Banabhatta (b) Chanakya
(¢} Harishena (d) Kalidasa

Q2.

Q3.

(iii) means separation on the basis of|_r=.

(a) Diserimination (b)  Apartheid %
[c) Stereotype (d) Prejudice

(iv) Who among the following ensures that particular
demands of the ward are placed before the council?

(a) Sarpanch (b) ward councillor

(e} Ward member (d) President
(v)  World's highest rainfall is experienced in

(a) Mumbai (b)  Jaipur

[c) Mawsynram (d) Manipur
(v) Sundari is a well known species of trees found in

forests.

(a) Evergreen (b) Mountain

[¢) Mangrove (d)  Tropical deciduous
Correct the incorrect statements : (1x6=6)

(@ The title ‘Maharaj-adhiraja’ was first given to
Samudragupta.

(b) Ashoka's inscriptions were written in Devanagari
script.

(¢) Zila Parishad Works at the village level.

(d) River Krishna has been the cause of dispute hetween
Karnataka and Tamil Nadu.

(e) Andaman and Nicobar Islands are located in the
Arabian Sea.

i3] During the South-Wesl monsoon seasor, winds blow
from land to sea.

Answer the following questions : (1x8=8)

(a) Who composed Samudragupta’s Prashasti?

(n) Why was king Ashoka considered as one of the
unigue rulers in the history of the world?

(2)




Q4.

Q6.

Q7.

Q8.

Q9.
Q10.

Qll.

Ql2.
Q13.

Q14.

Q15.

(¢)  Listany two states where Jainism initially spread in
the ancient period.

(d Define tax.

(e) What is Panchayati Raj System?

()  How are plains formed?

(¢ Name the two rivers which fall into the Arabian Sea.

() Where are mangrove forests found in India?

Write a short note on the ruler Harshavardhana. (3)
List any three features of Sangha. (3)
Describe the means adopted by Ashoka to spread the
message of Dhamma. (3)

Why do you think that it is important that the Municipal
Corporation should spend more money on slum localities?

(3)
What are the various ways in which people participate in
the process of government? 3

List any three functions of E:.:EEE Corporation.  (3)
Differentiate between Western Ghats and Fastern Ghats.

3
‘Several species of wildlife in India are declining rapidly.’
Suggest any Lhree ways to conserve wildlife in India.  (3)
Give a brief description of the Peninsular Plateau. (3)

‘Lord Buddha travelled on foot from one place to another
to spread his message amongst everyone.' What were the

main teachings of Buddhism? (5)
Define Dhamma. What were the problems that Ashoka
wanted to solve by infroducing Dhamma? (1+4=5)

(a) What do you mean by Gram Sabha?
(h) How are the Gram Sabha and Gram Panchayat
linked to each other? (1+4=0)

(3)

Q16. Differentiate between Evergreen and Deciduous fores

(37

@17. ‘This is a young fold mountain located in India." ldentify
and write a short note on it. (3)

318. Attempt the following maps.

(a)

On the provided political map of India, name and
mark the following [1x4=4)

(i)  Place where Ashoka fought his last war
(i)  Gateway to North-West during Mauryan period
(iif) The Great Indian Desert

(iv) Place where teachings of Mahavira are
available in written form

On the provided political map of the world, name
and mark the following : (1x4=4)

() A volcanic mountain in Africa
(i) A country where Apartheid was practised
(i) Most populated country of the world

(iv) An old fold mountain range in India

()
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: - What do gases Aand B represent n the above flowchari?
SUBJECT : INTEGRATED SCIENCE P vk i 7
& 15 prepared by mixing lemon julce and sugar
Time : 2% Hrs. M.M.: 80 inwater. You wish to add ice to cool it. Should you me
General Instructions : - lce (o the lemonade before or after dissolving sugar? Give
(i)  All questions are compulsory. S reason,
(i) Mention correct question number and part for each , () When sunlight is allowed toenter a dark room through a
answer. . sltt, some tiny particles are seen floating in sunlight, What
(iii) Attempt the questions in the same sequence das are these thy particles?
given in question paper. gl xmn.B aragpicker collected used polythene bags from a
PART-A peusing colony. He put ther ina pile and burt then,
Q1. Answer the following in one word or one sentence each : . id he do the right thing? Give reason.
(1x15=15) @ mmo:.w added a teaspoonful of both salt and sugarioa
ass andsti : -
Sl bt TR T g Me of waterand stirred well, She then used a filter
paper to separate sugar and salt from water, byt failed to

do so. Give reason.

(o)  Observe the tigures given below. The metal ball passes
through the ring in the first figure. It is heated and cannot

(b) When sugar is dissolved in water, it disappears. What
type of change is it? Give reason.

(¢)  Name the property oflight shown by the figure given below:
pass through the ring in the second figy i
=l I . happen? igure. Why does this
(d)  What will be the colour of a shadow formed in red light? v ; (i)
(&)  Raghavis given a glass bottle with some white substance :
in it that is either chalk powder or sugar powder. How
can he find out which of the two Is sugar or chalk, without @2 Flllin the blanks : (1x5=5)
tasting it? - - : (@) Asolution in which no mare salute can be dissolved in a
() Neame the joint present in the solvent at a particular temperature is called 4
1) elbow (i)  shoulder . b Mm mME.H ofa skeleton where two or mare bones meet x
(@  Youlook into a mirror and see your own image in the g 2 :
mirror. Which phenomenon is responsible for this? " - urningofcandle is a change.
: . . , ; is the method of se i
1 t:: Sugar: ! . T eparating seeds
) Solute:Solvent: Sugar: . - : s g 4 of paddy

(0] Some animals like dolphins and whales do not have gills.
(2)

Them how do they breathe?

(m

R ——




Q3.

(e)

Naturally oceurring materfals that have the special
property of attracting other materials are called
magnets.

Give a technical term for the following : (1x5=5)

(@)

The two ends of a magnet which show maximum
attraction.
Any material which cannot be used inthe form in which
it is produced and can cause soil, water or air pollution.
Corversion of plant and animal waste including that from
kitchen into manure. :
Hard structures in body that cannot be bent.
The method used to separate heavier particles from lighter
particles by wind or by blowing air.

PART-B

Answer briefly : (2x10=20)

(a

L)

(@

@

@

Living things take in oxygen which combines with digested

food to release enerdy. What is this process called? How

do plants carry out this process?

What is a shadow? What are the conditions necessary

for shadow formation?

X is a box formed by the ribs which join the chest bone

in the front and backbone at the back. Identify X and

name any two internal parts of your body which 1t

protects, e

Vivek prepared a saturated solution of sall In water. He

wants to add more salt to it. Write any two ways by which

hecandoit.

Changes can be brought about by heating or mixing one

or more substances. Give two examples of changes caused

by heating substances.

A method used for separation

is shown in the figure given

alongside.

(i) Name and define the
method shown.

(i) Identify parts (a) and (b).

(3

(h)

U]

How do muscles make the bone move?

Magnets become weak if they are not stored propefij. .o
keep them safe how should they be stored?

Cactus is well adapted for living in deserts. Write any two
adaptations which make it well adapted for deserts.

A s a joint present in our neck and B are the joints

present in our skull. ldentify A and B and differentiate
between the two on the basis of the movement they allow,

@5, Answer the following : (3xB=15)

(a)

(b)

()

(d)

(€)

A cart-driver wants to fix a metal rim onto a wooden
wheel, Write the steps to be lollowed for fixing the metal
rim.

A cockroach does not have bones and joints. Write any
three features present in cockroach which help in various
moverments.

Look at the diagram

given below in which a

leafy potted plant X is
enclosed in an airtight,
transparent plastic bag.

() Nameand define the process demonstrated by the
given plant x.

(i)  Identily the substance (1) collected inside the
plastic bag after sometime.

(iii)  Ifthe lealy plant in the above figure is replaced by
acactus plant. will the amount of (1) remain the
same, Give reason.

Xis the method of preparing compost with the help of

redworms. [dentify X. Write any four precautions which

should be taken during this method.

Give reasons
(i)  Afroghas strong back legs.
(i)  Adeerhas eyes on the side of its head.

(4)




‘ (i)

T ———

Moeuntain trees are normally cone shaped with
sloping branches bearing needle like leaves.

Q6. Draw neat and well-labelled diagrams of : (443+3)

(a)  Typesofmagnets
(b) Germination of a seed
(¢}  Pin-hole camera
Q7.  Answer the following questions : (5x2=10)

(a)  Lookat the given figure given below :

(i)

(i)

(iid)

Name and define the
method of separation
shown.

Identify (a) and (h).

Differentiate between iy m U4 5]
the two. r

Give two examples from your daily life where this
method is used.

() Lookat the figure given below and answer the questions
that follow :

(i)
)]

(i)

(iv)

)
Why does the candle get extinguished in figure (if)?

Why does the water level rise in the inverted glass
jar in case of (ii)?

Name the major component of air which remains
in the glass jar after the candle gets extinguished.

Define atmosphere.

&)

SA2-VI 2/2014
SUBJECT : MATHEMATICS

Time : 3 hrs. M.M. : 80
General Instructions !

(i
(ii)
(it
(iv)
v)
(vi)
Q1.
Q2.

Q3.
Q4.

Q5.

Q6.

Q7.
08.

Q9.

Q10.
Qll.

All questions are compulsory.

Read all questions very carefully.

Questions 1 to 10 earry 1 mark each.

Questions 11 to 18 carry 2 marks each.

Questions 19 to 28 carry 3 marks each.

Questions 29 to 34 carry 4 marks each.

Write in decimal form : Seven and nine tenths.

Il AAAA represents 20 chocolates, then AAA stands for
chocolates.

Represent (-7) on the number line.

Write algebraic expression for : y multiplied by 5 and the
result is subtracted [rom 18.

[s the perpendicular bisector of a line segment also its line
of symmetry?

The area of a rectangular hoard is 32sq em and its breadth
is 4cm. What i3 the length of the board?

Represent 3.45 on the number line.

Fill in the following blanks :

el

e

6
If there are 70 oranges in a box. How many oranges are
there in t boxes?
Write the opposite of 50 km west.

1

®|&
IS

]

A farmer wants to fence his rectangular field of length 220m
and breadth 180m with 4 rows of wire all along its 4 sides.
What is the length of the wire needed?

(1




Q14

Q15
Q16

Q17
Q18

Find the ratio of : 36 minutes Lo 3 hours.

. The no. of children per family in 25 families is given below:

Q19.

Q20

Q21.

Q22

FEANE T 3 IR Tt S b D
5 T o LoNC s R e e e [t
Organise the above data using tally marks table.

Let P and Q be the centre of two circles of equal radii;
draw them so that each one of them passes through the
centre of the other. Let them intersect at R and 8. Examine

whether PQ and Rg are at right angle.

Solve : 2x+ 7 =11.

{a)  Subtract 2.876 from 5.03
(b) Add 17910873

Using number line find : (-2) + &.

Find the cost of fencing an equilateral triangular park of
side 250m at the rate of ¥ 30 per metre.

In a class of 36 students, 14 like to play cricket. 9 like
football and remaining like volleyball. Find the ratio of :

(a) Number of students who like to play cricket to
number of students who like football.

(b) Number of students who like football to number of
students who like volleyball.

()  Total number of students to number of students who
like cricket.

Draw a circle with centre 'O" and radius 4 cm. Draw a
chord 3y . Construct the perpendicular bisector of 3¢y
and examine if it passes through ‘O".

Fill in the blank with >, < or = sign

26- (13)[ |43+ (4

Sharmila bought readymade garments for 587 rupees 50

paise and medicines for 230 rupees 75 paise. Find the
total amount spent by her.

(2)

023. Find the area and perimeter of the given figure. (The
measures are given in centimetres). .

+

2
Q24. Take Radha's present age to be y years:
(a)  What was her age 4 years ago?
{b)  What will be her age 7 years from now?
() Radha's uncle is 3 times her age. What is the age of
her uncle?
Q25. Construct the following angles using ruler and compass .
(a) 30° k) 45°
(26. Renu purchased 16 pens for ¥ 320 and Sheela purchased
g pens for 7 108. Who had spent more for the pens?

Q27. Solve : (-401) + (-34) - (-513) + 105

.@28. The number of T.V. sets sold by.a departmental store n_zn,:w

the first five months of the year 2010 is glven below .

Months Jan. | Feb. | Mar. | April | May
No. of TV, sets sold 50 70 35 45 65
()  Draw the pictagraph of the above data by taking

[ ]=10TV. sets
(il Howmany more T.V. sets were sold in February than
in May?
29. Determine if 39kg : 52kg and 45cm : 60cm are in
propertion. Also write the middle and extreme terms if the
ratios form a proportion.

(3)




@30.

Q3.

Q32.

Q33.

934,

Pick out the solution from the values given in the bracket

next to the equation. Show that the other values do .

salisly the equation :
x+7=3(30,-8 -4)

Draw an angle of measure 157° and divide it into four

equal parts.

(a) Reduce 3.84 (o lowest form.

(b)  Kanchanbought a watermelon weighing Skg. Out of
this she gave 2kg 750¢ to her neighbour, What is
the weight of watermelon left with her?

Four square flower beds each of side 2m are dug on a

piece of land 8m long and 6m wide. What is the area of the

remaining part of land?

The total number of students in a school for the last six

years is given below in the following table :

Year

2008 | 2000 | 2010 | 2011 | 2012 | 2013

No. of Students 500 | 700 | 850 | 900 | 1000 | 1100

(i)  Express the above data in the form of bargraph.

(i) The above data shows an increase in the number of
students every year. Give any one importance of
edueation in our life.

(4)

m—c

qmq

1.

q2.
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SA2-VI 2/2014
SUBJECT : COMPUTER SCIENCE
Time : 2 Hrs, M.M.: 50
Q1. Choose the correct answer and write it in answersheet:
6x16)
(i  View in which ‘Transition’ effects can be seen .
(a) Slide Sorter (b) Slide
(c) Notes Pages (d) Slide Show
(il The extension assigned to @Basic program file
@ OB (b) .BAS
(&) = EFT (d) .doc
(i) Itis automatically inserted at bottom of every email you
send
(a) Attachment (b) Sound
(€] Tmage (d) Signature

(iv)

Wl

(vi)

Q2.

Function key used to switch from one mode to another
in @QBasic

(a) F6 b) F1

(e F5 () Fi12

A device that connects computer with telephone line
‘(a) UPS (b) Modem

{c) Printer (d) Headphone

Tab in which ‘Textbox' aption is present in Powerpoint

(a) Home (b) Insert

[c) View (d) Slideshow

Give one word answer for the following statements :

(8x1=8)
{a) Extension assigned to the recorded sound files
(h) It is a collection of webpages
(¢) Operator used Lo represent ‘non-equality’ between
operands in QBasic
{d) Founder of WWW.
(e) Tab in which Media Clips’ group is present in
Powerpoint
(1

Q3.

Q4.

Q5.

Q8.

Q7.

Q7.

() Hardware needed to record sound on the compnier

g Itisa popular social networking site

(h) Key used to hide welcome dialog box in @Basic

Answer the following questions :

(a) Write the steps to insert your own sound in a
presentation. (4)

(b) Define the term ‘Hierarchy of Operations’. Write
the hierarchical order of arithmetic operators in
QBasic. (3)

(© Whatisa ‘Search Enging'? Give two examples. (3)

() How are ‘Animations’ helpful in & presentation?

(3)
Expand the following - (3)
(a) IDE by ISP
(c) Www
Answer the following : 4
(a) Two examples ol ISP
(b) Two waystoruna (Basic program
Explain the following : (5x2=10)
(a) Transitions (b) Video Conferencing
() Internet @ Www
(e) Ev:m:g?n:m constant
Classify the following as one of these - @)

Alphanumeric variable, Numeric variable
Alphanumeric constant, Numeric constant

(@) NAMES (b) 934

B TOF L @ “INDIA"

Rhea has prepared a presentation on *pOLLUTION" with
10 slides.

(a) Suggest her a readymade button for defining

hyperlinks on her slide. (1)
(b) Shewantsto import data from MS word document.
Suggest her option to fulfil the task. (1)

2




SA2-VI 2/2014
SUBJECT : FRENCH

Time : 3 Hrs. . M.M.: 80
General Instructions :

()
(i)

(iii)

Al

=
177

Al.2

AlS

Attempt all the questions.

Write in neat and clear handwriting.

Number the answers as given in the question paper.
Section-A (Compréhension Ecrite)

Lisez

Bonjour! Je m'appelle Paul. J'ai quinze ans-Jhabite avec

ma famille. J'ai une soeur ef un frére.

Mon pére est homme d'affaires. 1l est trés intelligent-Ma

meére est femme au foyer. Elle fait des repas delicieux. Elle

est sympathique, Mon [rére va au bureau. Il aide mon pere

dans les affaires. 11 est souriant Ma soeur est architecte.

Elle est jolie. Et mof, jétudic dans une grande école.

Mon école est belle. Elle a une grande bibliothéque, une

cafétéria et une piscine. Les professeurs sont gentils. J'al

beaucoup d'amis. J'&tudie et je joue dans lI'école. Jaime

jouer au foothall. C'est mon sport favori. Je suis tres

content de ma vie.

Répondez : (3x1=3)

1.  Comment est I'école de Paul?

2. Que fait le frére de Paul?

3. Quelle est la profession de la soeur de Paul?

Complétez avec un mot/des mots du texte : (4x1=4)

1. Jaimema , (frere/famille)

2. Les livres sont le cartable. (de/dans)

4 Ma mére ne travaille pas, elle est . (homme
d'affaires/femme au f{oyer)

4. Les étudiants disent bonjour aux . (bureau/
professeurs)

Trouvez le contraire du texte : (2xYe=1)

1. antipathique #

2 petite #

A2,

B

B1.
B2.
B3.
B4.

Cl.

Lisez
Au Supermarché e
Marie :  Maman, je vais au supermarché. Vous
voulez quelque chose?
Mme Durand :  Oui, je veux une baguette. [l n'ya pas de
baguette dans la maison.
Marie : Cest tout?
Mme Durand : Non, je veux aussi des céreales, de la
viande, des biscuits, un kilo de pommes
de terre, des fruits et du lait.

Marie . D'accord. Donnez-moi de 'argent, je n'al
pas assez d'argent.

Mme Durand : Voild un billet de 50 euros.

Répondez : (3x1=3)

1.  OQu-va-t-elle, Marie?
2.  Quest-ce qu'elle achéte?
3. Est-ce qu'ily a une baguette dans la maison?
Dites ‘Vrai' ou ‘Faux': [4x1=4)
1.  Marie a assez d'argent.
2. 1y a des tomates dans la maison.
3. Marie est la fille de Mme. Durand.
4, Marie va a la boulangerie.
Section-B (Expression Berite)

Décrivez votre maison. Dessinez aussl (5)
Décrivez votre école. Dessinez aussi. (5)
Nommez et dessinez cing vetements. (19)]
Faites des phrases et dessinez - les : (5)
(a) le bus (b) chat :
(e) maison (d) une glace

(e) le chocolat

Section-C (Grammaire)
Transformez les questions en utllisant, <<Bst-ce que
1o Po> 0u <<Est-ce qu'...?>> : (5x1=5)
1.  Elles ne prennent pas le déjeuner?
2. Tlvient le soir?

(2)




ca.

C4.
C5.

C6.

(e

3. Nous allons au marche?

4. Pierre apprend le chinois?

5. Les amis de Marc parleni japonais?

Conjuguez les verbes au present (5x1=5)
i Tu du the. (vouloir)

2.4 Nous aller au marche. (pouvoir]

m_ :m mwmmﬂmuwﬂsnmnm:m_mwﬂmﬂ _55
P
m.

Nous le poéme. (lire)
Elles le métro. (prendre)

Completez les phrases en utllisant des nombres ordinaux:
(5x1=5)

Févrierestle __ mois de l'an.

Lundiestle _____ jour de la semaine.

Dimanche estle ___ jour de la semaine.
Samedi est le jour de la semaine.

. Octobre est le mois de l'an.

Conjuguez le verbe : Vouloir' (au négatif). (3)
Eerivez le contraire : (3x1=3)
1. La maison est devant l'école. &

2. Le chien est au-dessus de la table. #
3. Les cahiers sont sous la table. #
Complétez avec au, & la, al', aux, a. (6x'2=3)
. Donnez le journal grand-mere.

Est-ce que vous parlez Manuel?

Elle parle éleve.

. Mare monire sa jupe amies.

Les filles parlent professeur.

. Je donne des chocolats garcons.
Complétez avee I adjectif possessil : (4xY2=2)
(mon, ma, mes, ton, ta. tes ... ete.)

1. Jeparlede voyages.
Manuel met chemise.
dictionnaire est épais.
legons.

i

o koo

—

Ll

£

o oo

2
B
4,. Vous finissez

(3)

C8.

C9

DI.

D2.

D3.

Trouvez la question : (2x1=2)
1. Il sappelle Patrick, =
2 Ce sont des livres.
Chassez l'intrus : (2x1=2)
1.  éléphant. tigre, lion, étang.
2.  mettre, lire, dire. pouvoir.

Section-D (La culture et la civilization)
Repondez : (Bx2=0)
1.  Qu'est - ce qu'il ya dans la classe de Manuel?
2. Qu'est - ce que Catherine achéte pour la soirée?
3 Quelle sont les meubles du salon?
Dites ‘Vrai’ ou ‘Faux': [Ax1=4)
1.  Aurez-de-chaussée, ily a un salon.
2. Manuel joue de la guitare.
3. Catherine préfére la couleur verte.
4,  Catherine achéte des chaussures.

Cochez la bonne réponse : (5x1=5]
1.  Le terrain de sport est I'école.
(@) au-dessous (c) devant
(L) derriére
2. Lachambre de Manuel est assez grande avec
lits.
(a) trois ) deux
L) dix
8. Ilyaun pour notre voiture.
(a) garage (c) piscine
(b) jardin
4.  Clest de Catherine
(a) le mariage {¢) lanalssance

(b) 1 anniversaire

8. Catherineveut .
(a) unerobe (c) ungilet
(b) unejupe

(4)
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